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��

�!���� #���!����* �
* �  $� #�� �� �" +��� ����0� "��+ 1'' 2�� �.  � ���3
���� 
�� 4!�� )� ��� �"  $� #�� ��� !�� ��+�� � !� �5.��!+�� �� $!0$ ��3
��0� .$��!#� !�  $� ��5 6  � & ��#����/ ���� .��7�# � ��� )�!�0 ������.��,
��
 819* 
�	�� 869* :�
 8&9* ��� 
��
 8;9/ 
�	��  ��+ $�� .�)�!�$�� !�
<��#$ 6''1  $� 
�#$�!#�� ���!0� �"  $� ��.��#����# !!�0 �!���� #���!��� ��
 $� ����0� ('=>'' 2�� 869/


$� ��!?�� "�� ��� �"  $� e+e− �!���� 
���!���� !�  $� .���!)!�! �  �
#��� ��# �� ! � )��!� � �$� �� 
���!��� ��!�0  $� .��#��� �"  $� 
�+. ��
)�#��#�  ��!�0 �" ����� �!0$ �""  $� $!0$ ����0� ���# ���� 8@=>9/ 
$!� �. !��
!� #���!����� ��4 "�� ��� �!���� #���!���� .��7�# �, ��
 819A 
�	�� 8(* 1'* 119A
:�
 816* 1&* &9A 
��
 81;9/

��  $� "����4!�0 4� �!�#���  $� .$��!#� .��0��++�* .���!)�� ����� ��� �.3
 !#�� �#$�+��*  $� �5.�# �� γγ ��� γ� ��+!���! !�� ��� ��+� � $�� !� ���# !��
��0!�� ��.�# �/ �5�+.��� ��� 0!��� +�� �� "��  $� .$� �� #���!��� � 
�	��*
� $�� .��7�# � ��� ���� �!�#����� 4$���  $�� $��� .�!�#!.�� �!""����#��/


$� )��!# �#$�+� �"  $� �$� �� 
���!��� !� �$�4� !� �!0/ 1/ �!�#���!�� �"
 $� .$� �� #���!��� �#$�+� ��� )��!# .�!�#!.��� #�� )� "���� ����4$��� 8@=119/

�� �� ��+!�� +�!� "�� ���� �" .$� �� #���!����/ 
$� +�5!+�+ ����0�
�"  $� �#�  ���� .$� ��� !� 8@9

ωm =
x

x + 1
E0; x ≈ 4E0ω0

m2c4
� 15.3

[
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��

] [ ω0

��

]
= 19

[
E0


��

] [ µ+

λ

]
, B1C

4$��� E0 !�  $� ���# ��� )��+ ����0� ��� ω0  $� ����0� �"  $� ����� .$� ��/
��� �5�+.��* "�� E0 = 2502��* ω0 = 1.17 �� Bλ = 1.06 µ+C B.�4��"�� ���!�
� � � ������C 4� �) �!� x = 4.5 ��� ωm = 0.82E0 = 2052�� B! 4!�� )�
��+�4$� ��4�� ���  � ����!���� �""�# � !� 
�+. �� �#�  ��!�0/


$� ����� x ≈ 4.8 !� � 0��� #$�!#� "�� .$� �� #���!����* )�#���� "�� x > 4.8
 $� .����#�� $!0$ ����0� .$� ��� #��� � D�� �+�− .�!�� !� #���!�!�� 4! $
 $� ����� .$� ���* ��� �� �����  $� γγ ��+!���! � !� ����#�� 8@* E* >9/ ���#�*
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�!0��� 1, 	#$�+� �" γγ* γ� #���!���/

 $� +�5!+�+ #�� �� �" +��� ��� �+ ����0� !� γγ #���!�!��� !� �)�� >'F*
��� !� γ� #���!�!��� ('F �"  $� !� �+�− #���!�!���/ �" "�� ��+� � ��� ��4��
.$� �� ����0!�� ��� ������* ��� #�� ���  $� ��+� ����� ��� ��#�����  $�
���# ��� )��+ ����0�/ 
$� ��+� ����� 4! $ λ ≈ 1 µ+ #�� )� ���� "�� ���

�	�� ����0!��/ � 2E0 = 8002��  $� .���+� �� x ≈ 7* 4$!#$ !� ���0��
 $�� ;/>/ �� ����!���� �""�# � �  $� #������!�� ��0!�� �""�# !���� !�#�����
 $�  $���$��� "�� �+�− .����# !��* ��  $� �+�− .����# !�� !� �!0�!"!#�� ��
����#�� 8119/


$� ��+!���! � �!� �!)� !�� !� γγ #���!�!��� $�� � $!0$ ����0� .��� ��� �
��4 ����0� .�� / 
$� .��� $�� � 4!� $ � $��" +�5!+�+ �" �)�� 1@F/ 
$�
.$� ��� !�  $� .��� #�� $��� � $!0$ ��0��� �" #!�#���� .����!G� !��/ 
$!�
.��� ��0!�� !�  $� +�� ���"�� "�� �5.��!+�� � !��/ H$�� #�+.��!�0 ���� 
�� �� !� γγ ��� �+�− #���!�!��� ������� 4� ���  $� ����� �"  $� γγ ��+!���! �
!�  $!� .��� ��0!�� z > 0.8zm 4$��� z = Wγγ/2E0/


$� ����0� �.�# ��+ �" $!0$ ����0� .$� ��� )�#�+�� +�� .����� !"  $�
!�! !�� ���# ���� ��� ���0! ��!����� .����!G�� ���  $� ����� .$� ��� ��� #!�#�3
����� .����!G��/ 
$!� 0!��� ��+�� � "�# �� �" &=; !�#����� �"  $� ��+!���! �
!�  $� $!0$ ����0� .���/ 
$� �����0� ��0��� �"  $� #!�#���� .����!G� !�� �"
 $� .$� ��� 4! $!�  $� $!0$3����0� .��� �+��� �  � ('=(@F/ 
$� �!0� �"
 $� .����!G� !�� #�� ���!�� )� #$��0�� )� #$��0!�0  $� �!0�� �" ���# ��� ���
����� .����!G� !���/

;




$� γγ ��+!���! � !�  $� $!0$ ����0� ��+!���! � .��� "�� 
�	�� !�
7�� .��.�� !����  �  $� 0��+� �!# ��+!���! � Lgeom �"  $� ���# ��� )��+�,
Lγγ(z > 0.8zm) ≈ 0.1Lgeom/ 
$� ��  �� #�� )� +��� ���0�� "�� γγ #���!�!���
 $��  $� �+�− ��+!���! � )�#���� )��+� ��$���0 ��� )��+ ��.���!�� ���
�)��� "�� .$� �� )��+�/ � !� �#$!���� ��!�0 )��+� 4! $ �+����� .���!3
)�� �+!  ��#�� ��� � ���0�� )��+ "�#��!�0 !�  $� $��!G�� �� .���� B!� �+�−

#���!�!��� )��+� �$���� )� "�� ���  � )��+� ��$���0C/ ��� #����� 
�	��
.���+� ��� 81'* 119 B��� �� �!�� !� 	�# !�� &C

Lγγ(z > 0.8zm) ≈ 1
3
L�+�− . B6C

�..��5!+� ��� �!+!��� ��+!���! !�� ��� �5.�# �� !� γ� #���!�!���/ 
�.!#��
#���� ��# !��� !� γγ #���!�!��� ��� �)�� ��� ����� �" +�0�! ��� $!0$��  $��
 $��� !� �+�− #���!�!���  $���"���  $� ��+)�� �" !� ���� !�0 ���� � � .$� ��
#���!���� 4!�� )� �!+!��� �" ���� $!0$��  $�� !� �+�− #���!�!���/

� �
��
	� ���
���
��


$� .$��!#� .� �� !�� �"  $� �$� �� 
���!��� !� ���� �!#$ ��� #�+.��+�� �
!� �� ����� !�� 4��  $� .$��!#� .��0��+ �"  $� �+�− +���/ � "�4 �5�+.���,

• �� γγ #���!�!���* �������#�� 4! $ C = + ��� .����#�� �� �!�0�� ���3
����#��/ 
$� �""�# !�� #���� ��# !�� �"  $� h0 .����# !�� � .$� ��
#���!���� !� ���� $!0$��  $� !� �+�− #���!�!��� 81%9/ ��� �"  $� +�� 
!+.�� �� �5�+.��� !�  $� �!00� )����/ 
$� .��#!�� ���4���0� �" ! �
 4�=.$� �� 4!� $ !� �" .�� !#���� !+.�� ��#�/ � !� ����! !��  � $����
�!� ��� #$��0�� .�� !#���/ 	�.����++� �� .���!# �  $��� ��� ��� �!00�
)�����/ �$� �� #���!���� #�� .����#�  $� $���� ��� ��� �!00� )�����
4! $ +����� �)�� 1/@  !+�� $!0$��  $�� !� �+�− #���!�!��� �  $� ��+�
#���!��� B)�#���� $���� �!00� )����� A0 ��� H0 $��� ��+�� �?���
+����� ��� !� �+�− #���!�!��� ��� .����#�� !� .�!��C/

• � γγ #���!��� #�� .����#� .�!�� �" ��� #$��0�� .�� !#��� B#$��0�� �!00�*
��.����++� �!# .�� !#��� � #/C 4! $ � #���� ��# !�� �)�� ��� ����� �"
+�0�! ��� $!0$��  $��  $��� !� �+�− #���!�!��� B��� 0��.$� ����4$��� 8>*
(* 119/ <�������*  $� #���� ��# !��� ��.��� !� � �!""���� "��+ ��
���!��� .$��!#�� .���+� ���/ 
$� .����!G� !�� �"  $� .$� �� )��+�
���  $� ���0� #���� ��# !��� ����4  � �) �!� �����)�� !�"��+� !�� ��
 $��� .�� !#��� ���  $�!� !� ���# !���/

@



• � � γ� #���!��� #$��0�� .�� !#��� #�� )� .����#�� 4! $ +����� $!0$��
 $�� !� .�!� .����# !�� �" �+�− #���!�!��� B�!�� � ��4 W ′ )���� ��� �
��� �!�� �� � ��.����++� �!# �#���� ���# ��� .��� � ��� ���!��C/

• �$� �� #���!���� �""�� ��!?�� .���!)!�! !�� "�� +�����!�0  $� γγ "��!��
�" $������ "�� .��)!�0  $� $�����!# � ��# ��� �"  $� .$� ��/

� �$�� �!� �" .$��!#� .��#����� "��  $� .$� �� #���!��� !� .����� �� !�

�)�� 1 81E9/ <��� �� �!� #���!���� !�� �"  $� .$��!#� .��0��+ � .$� ��
#���!���� #�� )� "���� ����4$��� 81>* 1%* 1(* 1E* 11* &9/


�)�� 1, 2���3.�� �� .��#����� � .$� �� #���!����

�	���
�� �	
����

γγ → h0 → bb̄, γγ Mh0 < 160 !
"
γγ → h0 →WW (WW ∗) 140 < Mh0 < 190 !
"
γγ → h0 → ZZ(ZZ∗) 180 < Mh0 < 350 !
"

γγ → H,A→ bb̄ #$$# �
� � %����

γγ → f̃
¯̃
f, χ̃+

i χ̃
−
i , H

+H− $&$' �������
�

γγ → S[t̃¯̃t] t̃¯̃t ���������
γ
 → ẽ−χ̃0

1 Mẽ− < 0.9 × 2E0 −Mχ̃0
1

γγ →W+W− ����� ���
��� 
(��� 	���
γ
− →W−νe ����� W ���������
γγ →WW +WW (ZZ) ������ WW �����
����

γγ → tt̄ ����� t�)���� ���
�����
γ
− → t̄bνe ����� Wtb ��������

γγ → ��	���� ����� γγ ����� �
�����
γ
− → e−X ��	 νeX ������� ���������
γg → qq̄, cc̄ ����� 	����� �� ��
 γ
γγ → J/ψ J/ψ *�+ ���
���

� ���
���
�
�� �� �
���� 	���
����

��� ��� ��		
�
�� ����
�� ����������
��


$� )��!# �#$�+� "�� .$� �� #���!���� !� �$�4� !� �!0/ 1/ 
$� �!� ��#� )�3
 4���  $� #������!�� .�!� B
�C ���  $� ��* b* !� #$���� "��+  $� ���� !��
b ≈ γσy* ��  $�  $� �!G� �"  $� .$� �� )��+ �  $� �� $�� �?��� #�� �!3
)� !��� "��+  $� ���# ��� )��+ �!G� ���  $� ��0���� �.���� "��+ 
�+. ��

%



�#�  ��!�0/ � 
�	�� σy ≈ 4 �+ 0!��� b ≈ 2++ � 2E0 = 5002��/ ���0��
b ������ ����  � � ��#����� �"  $� γγ ��+!���! �/ ��� �+����� b ������  $� $!0$
����0� ��+!���! � !�#������ ���� � �!  �� 4$!��  $� ��4=����0� .$� ��� 0!�� �
���0�� #�� �!)� !��  �  $� ��+!���! � B4$!#$ !� �� ���"�� "��  $� �5.��!+�� 
)� #����� ���! !���� )�#�0������C/


$� ��+���� �"  $� �!���. �� )��+� #�� )�� )� ���� ��!�0  $� #��)3
#����!�0 �#$�+� �!0/ 1* 4$!#$ !� "������� !�  $� ��
 ��� :�
 .��7�# � "��
�+�− #���!�!���/ ���  �  $� #���!�!�� ��0��  $� �� 0�!�0 �!���. �� )��+�
 ����� �� �!��  $� "!��� ?����/ 
$� ����� �"  $� #��)=#����!�0 ��0�� !� �� ��3
+!��� )�  $� �!���. !�� ��0��� ���  $� "!��� ?��� ���!0� B�!�+� �� �"  $�
?��� ��� ! � �!� ��#� "��+  $� ��C/ 	!+��� !�� �$�4�  $� "�� 
�	��  $�
+�5!+�+ �!���. !�� ��0�� !� �)�� 1'=16 +���/ �)���  $!� ��0��  $�  �3
 �� ����0� �" .�� !#��� !� �!���. �� )��+� !� �+�����  $�� "��+ ����+���)��
�+�− .�!�� )�#�0������/ ��  $� .����� 
�	�� ���!0� αc = 34+���/

��� ��		
�
�� �������� �	�

��� 	�

���
�
��

� "!�� �!0$ * ��� +��  $!��  $�  $��� ��� �� #���!�!�� �""�# � !� γγ ��� γ�
#���!�!��� )�#���� � ���� ��� �"  $� )��+� !� ��� ���/ 
$!� !� �� #����# 
)�#���� ���!�0  $� )��+ #���!�!�� ���# ���� ��� .$� ��� ��� !�"����#�� )�  $�
"!��� �"  $� �..��! � ���# ��� )��+* 4$!#$ �����  �  $� "����4!�0 �""�# � 8E* >9,

• !� γγ, #������!�� �" .$� ��� !� � �+�− .�!�� B#�$���� .�!� #��� !��CA
• !� γ�, #�$���� .�!� #��� !��A )��+� ��$���0A )��+ �!�.��#�+�� /
���+ #���!�!�� �""�# � !� �+�− ��� γγ* γ� #���!�!��� ��� �!""���� / ��

.�� !#����* !� γγ #���!�!���  $��� ��� �� )��+� ��$���0 �� )��+ !�� �)!�! !��
4$!#$ �!+!  $� $��!G�� �� )��+ �!G� !� �+�− #���!�!��� ��  $� ����� @@' B&@'C
�+ "�� 
�	�� B��
I:�
C/ 
$���"���* ! 4�� �" !� ����  � � ��� �!+! � !���
�"  $� ��+!���! � � .$� �� #���!���� ���  � )��+ #���!�!�� �""�# �/ 
$� �!+3
��� !��* 4$!#$ !�#���� ��� #���!�!�� �""�# �* 4�� ���� "��  $� 
�	�� )��+�
���  $� $��!G�� �� �!G� �"  $� ���# ��� )��+� 4�� ���!��/ 
$� ����� � ���  $�
"����4!�0 B��� 0��.$� !� 81@* 1'* 119C, ��� #����� "��  $� γγ ��+!���! � "����4
 $�!� �� ���� )�$��!�� B�� 4! $�� #���!�!�� �""�# �C, L ∝ 1/σx � ���� ��4�
 � σx = 10 �+ B�+����� ������ 4��� �� #���!����� )�#����  �� �+��� $��!3
G�� �� �!G�� +�� !� ����#� .��)��+� 4! $  $� #��)=#����!�0 �#$�+�C/ 
$� γγ
��+!���! � B!�  $� $!0$ ����0� .�� C #�� ���#$  $� ����� 1035 #+−2�−1/ �� �
 $� 4$!�� !� �+�− #���!�!��� σx ≈ 500 �+* !� γγ #���!�!���  $� �  �!��)�� σx

4! $  $� .������ !�7�# �� B��+.!�0 �!�0C !� �)�� 100 �+/ �� γ� #���!�!���  $�
��+!���! � � �+��� σx !� ��4��  $�� "����4� "��+  $� 0��+� �!# �#��!�0 ���  �
)��+� ��$���0 ��� �!�.��#�+�� �"  $� ���# ��� )��+ ���!�0  $� )��+ #��3
�!�!��/ � � +�5!+�+ ����� B$!0$ ����0� .�� C !� �)�� B6=&C·1034 #+−2�−1/

E




�����.���!�0 ��+)��� ��� #����� "�� ��
I:�
 )��+ .���+� ��� #�� )�
"���� !� 81@9/

	�* 4� #�� #��#����  $� "�� γγ #���!�!��� � #/+/�/ ����0!�� )���4 �)�� 
��� 
�� ��� #�� ��� )��+� 4! $ σx +�#$ �+�����  $�� !� �+�− #���!�!���/ ��
� ����� *  $� γγ ��+!���! � !�  $� $!0$ ����0� .��� #�� )�* !� .�!�#!.��* �������
 !+�� $!0$��  $��  $� �+�− ��+!���! �/ 
�� ����  � �+�− #���!�!���* 4$���
 $� ��+!���! � !� �� ��+!��� )� ����+���)�� )��+3)��+ #���!�!�� �""�# �*
� .$� �� #���!����  $� �#$!���)�� γγ ��+!���! � !� �!+! �� ���� )�  �#$�!#��
.��)��+� !� �) �!�!�0 )��+� 4! $ �+���  ��������� �!G��/

��� γγ ��� γ� 	�

���
�
�� �� �����

�  �!��)�� γγ ��+!���! � ��.���� � ���0�� ��  $� �+!  ��#�� �"  $� ���# ���
)��+�/ 
$��� ���  4� +� $��� �" .����# !�� ��4=�+!  ��#� ���# ��� )��+�,
��+.!�0 �!�0� ��� ��4=�+!  ��#� ��=.$� �=0��� B4! $�� ��+.!�0 �!�0�C/

$� ��#��� �. !�� !� .��+!�!�0* )� �  $� +�+��  $��� ��� �� ��#$ .$� �=
0��� .����#!�0 .����!G�� ���# ��� )��+�/ �����!G� !�� �" ���# ��� )��+�
!� ���� ���!��)�� "�� .$� �� #���!����/ 	�*  $��� !� ���� ��� #$�!#� ��4 J
��+.!�0 �!�0�/ ��.�#!���� "�� � .$� �� #���!���  $� .���!)!�! � �" ��#����!�0
 $� )��+ �+!  ��#�� �  $� 
�	�� ��+.!�0 �!�0 $�� )��� � ��!�� 8669 ���
! 4�� "����  $�  $� $��!G�� �� �+!  ��#� #�� )� ����#�� ��4�  � εnx =
2.5 × 10−6 +/


$� ��+!���! � ���� ��.���� ��  $� β="��# !��� �  $� !� ���# !�� .�!� �,
L ∝ 1/

√
βxβy/ 
$� ��� !#�� βy !� ������� #$���� #����  �  $� )��#$ ���0 $ σz

B $!� !�  $� ���!0� "�� �+�− #���!�!��� ��� #�� ���� )� ����!G�� "�� γγ #���!�!���C/
	�+� ?��� !��� ��+�!� �)��  $� +!�!+�+ $��!G�� �� β="��# !��/ ��� �+�−

#���!�!���* βx ≈ 15++ 4$!#$ !� ���0��  $��  $� )��#$ ���0 $ σz = 0.3++*
)�#���� )��+� !� �+�− #���!�!��� +�� )� "��  � ����#� )��+� ��$���0/ �� γγ
#���!�!���* βx #���� )� �)�� 1++ B�� ���� ��+�4$� �+�����C/ 
$��� ���  4�
"����+�� �� �!+! � !���,  $� )��+ ���0 $ ���  $� �!�� �""�# � B���!� !�� !�
"!��� ?����C/ 
$� ��  �� !� �� !+.�� �� "��  $� )��+ .���+� ��� #���!�����/

$��� !� ���� � #�� �!� .��)��+ 4! $  $� ��0���� �.���� �"  $� ���#$�� ���
���!� !�� �+!  �� !�  $� "!��� ?����/ �� * "��  $� .$� �� #���!���  $� #��)=
#����!�0 �#$�+� 4!�� )� ���� ��� !�  $!� #���  $��� !� ��""!#!�� #������#� "��
 $� ��+���� �"  $� �!���. �� )��+� ��� ���#$�� ��� ���!� !��/ 	 ��!�� �"
 $� �5!� !�0 �#$�+� "��  $� 
�	�� "!��� "�#�� $��� �$�4� 86&9  $� #$��+�=
0��+� �!# �)���� !��� ��+!�� � � β ≤ 6++/ ��� ��� ���* � ��4 �#$�+� "��
 $� "!��� "�#�� ��� �+ .��.���� � 	��
 86;9 B��� ���� 0��.$� !� 8119C ����4�
 � �) �!� βx ≈ 1.5++ 4! $ �+��� �)���� !��� ��� "�� $�� �. !+!G� !�� !�
.���!)��/

>




�)�� 6, ����+� ��� �"  $� .$� �� #���!��� � 
�	��/

2E0�!
" ,-- .-- /--

λL 0µ�12x 3�-423�/ 3�-425�. 3�-426�,
tL/λscat 3�7. 3 3
N/1010 , , ,
σz 0��1 -�7 -�7 -�7
frep × nb 0�%81 35�3 35�3 35�3
γεx/y/10

−6 0�·��	1 ,�.2-�-7 ,�.2-�-7 ,�.2-�-7
βx/y 0��1 �� �� 3�.2-�7 3�.2-�7 3�.2-�7
σx/y 0��1 35-24�/ //25�7 4927�5
� 0��1 ,�4 ,�3 ,�6

L


�
��� 01034 ��−2�−11 5�/ 3, 39
L

(z > 0.65) -�-7 -�-6 -�-9.

Wγγ, max 
!
"� 122 390 670
Lγγ(z > 0.8zm,γγ ) 010341 -�57 3�3 3�6

Wγ
, max 
!
"� 156 440 732
Lγ
(z > 0.8zm,γ
 ) 010341 -�74 -�95 3�7

L
+
− 01034 ��−2�−11 3�7 7�5 .�/


$� .���+� ��� �"  $� .$� �� #���!��� � 
�	�� "�� 2E0 = 6''* @'' ���
>'' 2�� ��� .����� �� !� 
�)�� 6/ ��� #�+.��!���  $� �+�− ��+!���! � � 

�	�� !� ���� !�#�����/ � !� ����+��  $�  $� ���# ��� )��+� $��� >@F
���0! ��!��� .����!G� !�� ���  $�  $� ����� .$� ��� $��� 1''F #!�#���� .�3
���!G� !��/ 
$�  $!#����� �"  $� �����  ��0� !� ��� 
�+. �� �#�  ��!�0 ���0 $
"�� 2E0 = @'' ��� >'' 2�� ��� 1/&@ �#�  ��!�0 ���0 $ "�� 2E0 = 6'' 2��* ��
 $� k2 ≈ '/; ��� '/@@* ���.�# !���� Bk !�  $� e → γ #������!�� #��""!#!�� C/

$� ����� 4��� ���0 $ !� 1/'% µ+ "�� ��� ����0!��/ 
$� �!� ��#� )� 4���
#������!�� ��� !� ���# !�� .�!� � !� b = γσy "�� 2E0 = 500 ��� >'' 2�� ���
b = 2γσy "�� 2E0 = 200 2��/ 	!+��� !�� ����� � .����� �� )���4 !�#����
����!���� �""�# � !�  $� 
�+. �� �#�  ��!�0 86'9/ 
�����.���!�0 .���+� ���
ξ2 = 0.15, 0.2, 0.4 "�� 2E0 = 200, 500, 800 2��* ���.�# !����/

���+ 
�)�� 6 ��� #�� ���  $� "��  $� ��+� ����0� Lγγ(z > 0.8zm) ≈
(1/3)L�+�− . 	!+�� �������� 4! $ γγ #���!�!���  $��� ��� ���� γ� #���!�!���
4! $ ��+�4$� ��4�� ��+!���! �* �� ��� #�� � ��� )� $  �.�� �" #���!�!���
�!+�� ��������/ ���!���� ���# ���3���# ��� ��+!���! � !� ���� �+��� ���  �
 $� )��+ ��.���!��/

(



�!0��� 6, γγ ��+!���! � �.�# �� � 
�	��/ 	��!� �!�� "��  � �� $��!#! � �"  $�
 4� .$� ��� ' ��� ��  �� �!�� "��  � �� $��!#! � 6/ ���$�� #�����, ��+!���! !��
4! $ #� � �� ���0! ��!��� +�+�� �+/ 	��  $�  �5 /


$� ���+��!G�� γγ ��+!���! � �.�# �� "�� 2E0 = 500 2�� ���
>''* 6'' 2�� ��� �$�4� !� �!0/ 6/ 
$� ��+!���! � �.�# �� ��� ��#�+.����
!�  4� .�� �, 4! $  $�  � �� $��!#! � ' ��� 6/ �!0/ 6 �$�4� ���� ��+!���! �
�.�# �� 4! $ ���! !���� #� � ��  $� ���0! ��!��� +�+�� �+ �"  $� .����#��
��� �+* 4$!#$ ��..����  $� ��4 ����0� ��+!���! �  � � ��4 �����/ ��  $� #���

1'



�!0��� &, ���+��!G�� γ� ��+!���! � �.�# �� � 
�	��B@''C/ ��" ,  $� .$�3
 �� #���!��� !� �. !+!G�� "�� γγ #���!�!���A �!0$ , ��� ���# ��� )��+ !� #��3
��� �� ���  $� �!� ��#� )� 4��� �� ��� 
� !� 1/'@ #+* @  !+�� ���0��  $��
"��  $� ��" "!0���/

�"  4� 7� � ��� #�� ��� �!#  $� ���0! ��!��� +�+�� �+ ��!�0  $� �#���!����! �
��0�� )� 4��� 7� � BH → bb̄, ττ * � #/C/

���  $� �!00�  $� .����# !�� �� � !� .��.�� !����  � dL0/dWγγ � 
Wγγ = Mh/ ���  $� #��� #���!�����* Mh ≈ 1202��* ��� x = 1.8*
dL0/dWγγ = 1.7 × 1032 #+−2�−1/2��. �� �  $�  $� #�����.���!�0 .���
��+!���! � "�� ��
 �  $�  !+� �" 	��4+���6''1 4�� E  !+�� �+�����819 ���
+��� ��#�� ���!��� ��+)�� !� 6/>  !+�� �+����� 8619/ ��  ���* 
�	�� ����
$�� ���0� ������#�� "�� "�� $�� !+.����+�� �"  $� ��+!���! �/ � 4!�� )� +���
#���� �" �� �� �!��� �. !+!G� !�� �"  $� "!��� "�#�� ��� �+/


$� ���+��!G�� γ� ��+!���! � �.�# �� "�� 2E0 = 500 2�� ��� .���+3
� ��� "��+ 
�)�� 6 ��� �$�4� !� �!0/ &3��" / ��� ���!#� �� γ� �5.��!+�� �
��� #�� #����� ���� ��� ���# ��� )��+* !�#�����  $� �!� ��#� )� 4���  $�
#������!�� ���  $� !� ���# !�� .�!� � ��� �) �!�  $� γ� ��+!���! � �.�# ��+
4! $ ��..������ ��4 ����0� .�� * �!0/ &3�!0$ /


$� γγ ��+!���! � �!� �!)� !���* !�#���!�0  $�!� .����!G� !�� #$���#3
 ��!� !#�* #�� )� +������� ��!�0 .��#����� γγ → l+l− Bl = e* µC 86@*
119/ ��� +������+�� �" γ� ��� #�� ���  $� .��#����� γ�→ γ� 8@* 119*
γ� → � �+�−(� µ+µ−) 8@9 ��� γ� → eZ0/
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� ����������
	�

� ��� ���+�� �" .$� �� #���!���� !� � .�4��"�� ����� ��� �+ 4$!#$ !� ����
"��  $� e → γ #������!��/ 
$� ��?�!��� .���+� ��� ��� .���!)�� �#$�+�� �"
������ ��� �!�#����� )���4/

��� �� �
��
���� ��� 	�����


$��� ���  4� +�!� .���+� ��� #$���# ��!G!�0 
�+. �� �#�  ��!�0, x ��"!���
)� �?/1 ��� ξ2 = e2B2�

2/(m2c2ω2
0) = 2nγr2

eλ/α #$���# ��!G!�0 ����!����
�""�# � !� 
�+. �� �#�  ��!�0/ � ξ2 � 1  $� ���# ��� �#�  ��� �� ��� �����
.$� ��* � ξ2 � 1 = �� �������/ H! $ 0��4� �" ξ2  $� �.�# ��+ )�#�+��
4!��� ��� !� �$!" ��  � ��4�� ����0!�� 86'* 119*  $���"��� ! !� .��"���)��  �
$��� ξ2 << 1/ ��4����* ��#����� �" ξ2 !�  $� #������!�� ����� !���! �)��  �
 $� !�#����� �"  $� ��?�!��� ����� "���$ ����0�/ ��� 
�	�� .��7�# 4� ����+�
ξ2 = 0.15, 0.3.0.4 "�� 2E0 = 200, 500, 800 2�� 4$�� #$��0� �"  $� ��+!���! �
�.�# �� !� � !�� �##�. �)��/

��� $�� B��4 K0���LC #����?���#� �"  $� ����!���� �""�# � !�  $� �$!" 
�"  $�  $���$��� "�� �+�− .�!� #��� !�� !� #���!�!�� �" ����� ��� $!0$ ����0�
.$� ���/ ��� ��� �" x ≈ 4.8 8@* E* >9 "��  $� �!���� 
�+. �� ! !� xth = 4.8(1+
ξ2)/ ���  $� +�5!+�+ 
�	�� ����0� 2E0 = 800 2�� ��� ����� 4������0 $
1/'%µ+ x ≈ 7.2/ ���  $!� ����0� 4� ����+� ξ2 = 0.4 ��� xth ≈ 6.7/ ��
����� * .�!� #��� !�� !� .��# !#���� �)��� ��� 4� #�� ���  $� ��+� ����� !�
 $� 4$��� 
�	�� ����0� ��0!��/

��� �. !+!G� !�� �" #������!�� �""!#!��#� 4� $��� .��"��+�� �!+��� !��
���+!�0  $�  $� "!��� "�#��!�0 +!����� ��� �! �� �� �� �!��  $� ���# ���
)��+� B4! $�� $���� !� +!����� "�� ���# ��� )��+�C/ 
$�  !� � �" )��+�
���  �  $� #��) #����!�0 ��0�� 4��  ���� !� � �##��� / 
$� ����� �"  $�
�!+��� !�� 81'9 �"  $� #������!�� .��)�)!�! � "��  $� ���# ��� )��#$ ���0 $
σz = 0.3++* λ = 1.06 µ+* x = 4.8 �� � "��# !�� �"  $� �����!0$ ���0 $
ZR "�� ���!��� "���$ ����0!�� ��� ������ �"  $� .���+� �� ξ2 #�� )� "����
����4$��� 81'* 119/

�� �����  � �) �!� � #������!�� .��)�)!�! � �" k ≈ 63% � ��� 
�	��
����0!�� � ����� 4! $  $� "����4!�0 .���+� ��� !� ��?�!���,

����$ ����0� � ≈ 5 :
�����!0$ ���0 $ ZR ∼ 0.4 ++
���� !�� τ(rms) ≈ 1.5 .�
��.� ! !�� �� � 
�	�� #���!�!�� �� �* ν ≈ 14 ��G
�����0� .�4�� P ≈ 140 �H B"�� ��� .��� #���!�!���C
H������0 $ λ ≈ 1 µ+ B"�� ��� ����0!��C/
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��� ��
I:�
 #���!����  $� ���# ��� )��#$ !� �$�� �� )� � "�# �� �"  4�/

��#��� !��� �$�4  $� "�� �!+!��� ����+. !��� B����� �. !#� !� �� �!��  $�
���# ��� )��+�C  $� ��?�!��� "���$ ����0� !� &/& : ��� ! !� �)�� 1/E@ : "��
 $� #��� $���3�� #���!�!��� B+!����� 4! $  $� $����C 4$!#$ !� #���!����� "��
 $��� .��7�# �/

<�!� �!""����#� "�� ������ )� 4��� 
�	�� ��� ��
 .��7�# � !� #����# ��
4! $ � ��# ���� �" ���# ��� )��#$  ��!��* ��� �!0/;/ � ��.��#����# !�0

�	��  $� �!� ��#� )� 4��� )��#$�� !� 1''  !+�� ���0�� 4$!#$ �����  �
�!""���� .���!)�� �..���#$�� "�� ����� �#$�+��/

3000 pulses/train
1 ms

t = 337 ns∆ 

x  5 Hz

∆ 

96 pulses/train
270 ns

t = 2.8 ns

x  120 Hz

�!0��� ;, 	 ��# ��� �" ���# ��� )��+� � 
�	��B��" C ��� ��
I:�
B�!0$ C/

��� ����� ����
��

��� .���+� ��� "�� ������ ��� �������)�� "�� �5#�. !�� �"  $� ��.� ! !�� �� �
B�����0� .�4��C/ 
� ����#�+�  $� K��.� ! !�� �� �L .��)��+ ! !� ?�! � �� ����
 � #���!��� � ����� ��� �+ 4$��� ��� ����� )��#$ !� ���� "��  $� e → γ
#������!�� +���  !+��/ 
4� 4��� �" +�� !.�� ��� �" ��� ����� .���� ���
#���!����� "��  $� �$� �� 
���!��� � 
�	��, �� �. !#�� � ���0� �!�0 ��� ��
�5 ����� �. !#�� #��! �/

��  $� "!�� �#$�+� 81'* 119* ��#$ ����� )��#$ !� ���� "��  $� e → γ
#������!�� �)�� 16  !+��/ 
$� ����� .���� !� ���  �  $� !� ���# !�� ��0!��
4$��� ! !�  ��..�� !� �� �. !#�� � ���0� �!�0/ 
$!� #�� )� ���� ��!�0 ��#����
#���� B�C*  $!� "!�+ .����!G��� B
��C ��� 1I;34������0 $ .�� �� Bλ/4C/ 
$�
+�5!+�+ ��+)�� �" #�#��� !� �� ��+!��� )� ��"��# !�� #��""!#!�� � �" +!�����
��� �  ���� !�� !�  $� ��#���� #���/

��  $� ��#��� �#$�+� 81@* 1'* 6%* 119* �� K�5 �����L �. !#�� #��! � !� ����/
��!�0 �  ��!� �" ��4 ����0� ����� .����� ��� #�� #��� � !�  $� K�5 �����L

1&



#��! � B4! $ ��� +!���� $��!�0 �+���  ����+!��!��C �� �. !#�� .���� 4! $ ��
����0� $!0$��  $�� !� � ����� .���� )� � "�# �� D B#��! � ?���! � "�# ��C ���
 $!� .���� #���!��� 4! $ ���# ��� )��#$�� +���  !+��/ �� �����  $� ��?�!���
����� .�4�� #�� )� ��4��  $�� !�  $� ���3.��� #��� )� "�# �� �" @'=1''/
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